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QUESTION 1

A pair of VNX storage arrays is replicating between two data centers over an iISCSI connection. The SQL Admin has
noticed that a small OLTP database with a write size of 4k periodically experiences increased disk response times. The
Storage Admin reports that during the same period, replication sessions are taking longer to complete. The Network
Admin reports degraded performance between the sites during the same period.

Why is the SQL application seeing increased disk response times from the local array?

A. Increased latency causes the MirrorView/A update cycles to take longer, increasing COFW activity.

B. The 64 KB chunk size for MirrorView/A does not match the small transaction size of the database, increasing the
bandwidth required between the arrays.

C. The MirrorView/A update cycle time is too short. It should be increased to improve write folding.
D. The MirrorView/A buffer size should be adjusted to match the smaller write 1/O size.

Correct Answer: A

QUESTION 2

A customer is implementing a VNX for File solution in a performance-oriented application environment. There are
Windows and Linux VM clients accessing the file systems. The customer wants to track both file system and DataMover
utilization. The Performance Administrator prefers GUI to CLI access.

What would you recommend?

A. Unisphere Statistics for File

B. server_stats

C. Custom monitoring script

D. Unisphere Analyzer

Correct Answer: A

QUESTION 3

Refer to the Exhibit.
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An administrator is checking the load on the array. The administrator is trying to determine if this is an acceptable range
(between 8370 and 8990 IOPs). Based on the illustration, what can you conclude?

A. The array is being saturated

B. The array is at moderate operation

C. The array\\'s load is light, with low response.
D. The array is in acceptable range

Correct Answer: A

QUESTION 4

A LUN has the following settings:
Prefetch TypE. Variable

Prefetch Multiplier: 4

Segment Multiplier: 4

Prefetch DisablE. 4097

Write-aside SizE. 2048
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Maximum Prefetch: 4096

What is largest write that will be cached?
A.1MB

B.2 MB

C.4 MB

D. 512 KB

Correct Answer: A

QUESTION 5

Refer to the exhibit.
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A VNX Snapshot is started on a Thick LUN at 09:37. The customer wishes to know why throughput drops immediately

after the VNX Snapshot starts. What is your explanation?

A. The VNX is configuring the tracking structure for the VNX Snapshot.
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B. Reserved LUNSs are being allocated to the thick LUN.
C. The thick LUN is being converted to a thin LUN.
D. VNX Snapshot blocks on the thick LUN are being compressed.

Correct Answer: A
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